#### **CITY COUNCIL MINUTES**

March 8, 2021

Standard Purchasing Resolution 2: Award to Low Bidder Meeting Specifications – Patrol Rifles – Police Department

Resolution #2021-03-034-J-4b

RESOLVED, That Troy City Council hereby **AWARDS** a contract to the low bidder meeting specifications, *Michigan Police Equipment Company of Charlotte, MI*, to supply the Police Department with replacement Patrol Rifles and Attachments for an estimated total amount of \$75,439.80 less the estimated trade-in value of \$27,160.00 for an estimated total cost of \$48,279.80 at the unit prices contained in the bid tabulation opened February 18, 2021; a copy of which shall be **ATTACHED** to the original Minutes of this meeting.

BE IT FURTHER RESOLVED, That the award is **CONTINGENT** upon contractor submission of properly executed bid and contract documents and all other specified requirements.

#### **PURCHASE ORDER**

B

CITY OF TROY

Police

500 W BIG BEAVER RD TROY, MI 48084 No. 2021-00001237 DATE: 04/14/2021 PAGE: 1 of 1 FOB DESTINATION

COUNCIL RESOLUTION 2021-03-034-J-4b INSTRUCTIONS Return to Department

**VENDOR NO. 100551** 

CITY OF TROY

TROY, MI 48084

500 W BIG BEAVER RD

Police

Vendo

MICHIGAN POLICE EQUIPMENT 6521 LANSING CHARLOTTE, MI 48813

QUANTITY	UNIT	DESCRIPTION	<b>UNIT COST</b>	TOTAL COST
45	Each	POLICE DEPT-FN 15 SRP G2 Tactical Patrol Rifles	795.0000	\$35,775.00
45	Each	POLICE DEPT-Sure Fire M600 Scout Light	217.0000	\$9,765.00
45 45	Each Each	POLICE DEPT-Sure Fire Dual Switch Tallcap Assembly POLICE DEPT-Magpul M-Lok Cantilever Rail Light MRA	117.0000 26.2000	\$5,265.00 \$1,179.00
45	Each	POLICE DEPT-Magpul Ambidextrous Sling Attach Point	21,2400	\$955.80
45	Each	POLICE DEPT-Savvy Sniper Quad QD with Hidden Black Sling	55.5000	\$2,497.50
45		POLICE DEPT-Ambidextrous Mag Release	38.0000	\$1,710.00
45 45		POLICE DEPT-Ambidextrous Safety Selector Assembly	33.0000	\$1,485.00
45	Each	POLICE DEPT-Trijicon MRO 2.0 Adjustable Red-Dot Sight with Mount	373.5000	\$16,807.50
1	Each	Trade In	(27,160.0000)	(\$27,160.00)
	1	Entered By: Emily Frontera		\$48,279.80

Special Instructions:

CITY COUNCIL AWARD DATE: 3/8/2021.

#### **TERMS & CONDITIONS**

1. Purchases of Municipalities are exempt from State Sales and Federal Excise Taxes.

2. Prior to acceptance, vendor agrees to provide City with information under the Right-to-Know Law, P.A. 1986, No. 80, and fully comply with all terms and conditions of the Michigan Occupational Safety and Health Act, MCL 408.1001, et seq. including vendor shall provide City with an "MSDS". Vendor also agrees to be responsible for all required labeling.

3. In cases of emergency/disaster, the City can purchase up to six(6) times the order amount for a period of six(6) months at the price contained in the contract.

 Purchase Orders are signed electronically based upon computer generated "on-line" authorized approvals. Authentic signatures are on file in the City of Troy Purchasing Department.

NOTICE: The City could put the vendor on notice that vendors will be held financially responsible for any claims or awards made against the City as a result of the vendor's action. If the City has to defend the initial lawsuit, the City will bring in the vendor as a codefendant or sue the vendor, either as the result of settling a claim or the conclusion of the lawsuit.

I HEREBY CERTIFY THAT THIS ORDER IS PROPERLY AUTHORIZED AND APPROVED.

Endy Frontera

Opening Date: 02/18/2021 Date Reviewed: 02/18/2021

CITY OF TROY **BID TABULATION** PATROL RIFLES

VEN	VENDOR NAME: CITY: CHECK NUMBER: CHECK AMOUNT:		ice Equipment	1	lice Supply	CMP Distri	butors, Inc.	
VIII			Charlotte, MI  No Check Submitted		Jeffersonville, IN 34290536 \$4,000.00		Lansing, MI  No Check Submitted	
PROPOSAL: To furnish NEW PATROL RIFLES	FOR THE TR	OY POLICE DE	PARTMENT					
PROPOSAL A: RIFLES								
DESCRIPTION	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	
FN 15 SRP G2 Tactical Rifle	45	\$795.00	\$35,775.00	\$795.27	\$35,787.15	\$911.68	\$41,025.60	
TC	TAL COST:	\$35,7	75.00	\$35,7	87.15	\$41,025.60		
PROPOSAL B: ATTACHMENTS								
DESCRIPTION	QUANTITY	UNIT PRICE	EXTESION	UNIT PRICE	EXTESION	UNIT PRICE	EXTESION	
Sure Fire M600 Scout Light	45	\$217.00	\$9,765.00	\$219.63	\$9,883.35	\$217.75	\$9,798.75	
Sure Fire dual switch tailcap assy	45	\$117.00	\$5,265.00	\$131.82	\$5,931.90	\$145.38	\$6,542.10	
Magpul M-Lok, Cantilever rail light MRA	45	\$26.20	\$1,179.00	\$10.09	\$454.05	\$27.95	\$1,257.75	
Magpul Ambidextrous sling attach point	45	\$21.24	\$955.80	\$18.50	\$832.50	\$21.95	\$987.75	
Savvy sniper quad qd with hidden black Sling (ambidextrous)	45	\$55.50	\$2,497.50	\$66.13	\$2,975.85	\$74.50	\$3,352.50	
Ambidextrous Mag Release	45	\$38.00	\$1,710.00	\$39.96	\$1,798.20	\$49.68	\$2,235.60	
Ambidextrous Safety selector assembly	45	\$33.00	\$1,485.00	\$63.00	\$2,835.00	\$37.53	\$1,688.85	
Trijicon MRO 2.0 adjustable Red-Dot Sight with full co witness mount	45	\$373.50	\$16,807.50	\$400.68	\$18,030.60	\$414.49	\$18,652.05	
	TAL COST:	\$39,6	64.80	\$42,7	41.45	\$44,5	15.35	
PROPOSAL C: TRADE IN FOR RIFLES - State	TRADE-IN V	ALUE at current	market value f	or current depa	rtment M&P15 \	Weapons. Quar	itities are	
estimates and may vary.  MODEL #	QUANTITY	Trade-In Unit Value	Total Trade-In Value	Trade-In Unit Value	Total Trade-In Value	Trade-In Unit Value	Total Trade-In Value	
Smith & Wesson M&P15 Rifle	56	\$485.00	\$27,160.00	\$300.00	\$16,800.00	\$375.00	\$21,000.00	
TOTALS FOR PROPOS	ALS A & B:	\$75,439.80 \$78,528.6		28.60	\$85,540.95			
ESTIMATED GRAND TOTAL WITH TRADE	IN VALUE:	\$48,2	79.80	\$61,7	28.60	\$64,5	40.95	
Authorized Dealer:	Y or N	`	<b>′</b>		1		1	
Warranty:		Full Manufacterers Warranty		Manufacturer Warranty		Manufacturer Warranty		
Descriptive Literature Provided: Contract Information:	Y or N	N		Y		N I		
Name(s):		Sena	Parks	Crystal Laasan	en; Brian Califf	Catherir	ne Parks	
Hours of Operation:		8:30AM - 5PM		8AM - 5PM		M-F 8:30AM - 5PM		
24 Hr. Phone Number:		517-322-0443; cell 313-600-7484		N/A		517-974-4276		
Provided References:		1 Y		Y		Υ		
Payment Terms:		Net 30 Days		Net 30		Net 30 Days		
Delivery Date:		Not Specified		Not Specified		180 days ARO		
Exceptions:		No		None		No.		
Acknowledgement:			<b>′</b>	Y			<del>(</del>	
Addendum:			<b>Y</b>		<b>′</b>		<u> </u>	
Forms:	Y or N		<b>Y</b>		(		(	

Attest:

(\*Bid Opening conducted via a Go-To Meeting) Sergeant Dan Galich

Kristine Kallek

Beth Zaccardelli Jackie Ahlstrom

Emily Frontera Purchasing Manager



## CITY OF TROY REVISED BID PROPOSAL PAGE

ITB-COT 21-21 Page 1 of 4

The undersigned proposes to furnish **NEW PATROL RIFLES FOR THE TROY POLICE DEPARTMENT**, in accordance with the specifications, which are to be considered an integral part of this proposal, at the following prices:

COMPANY NAME: Michigan Police Equipment Company

PROPOSAL: To furnish NEW PATROL RIFLES FOR THE TROY POLICE DEPARTMENT.

The undersigned, as bidder, declares that he/she has examined the specifications, including related documents. Being familiar with the City of Troy Police Department, the bidder hereby proposes to furnish and deliver the supplies as specified in the bid proposal documents, at the prices stated below.

Proposal A Rifles			
Description	Qty.	Unit Price	Extension
FN 15 SRP G2 Tactical Rifle	45	\$795.00	\$35775.00
		Total Price	\$35775,00

Proposal B Attachments			
Description	Qty.	Unit Price	Extension
Sure Fire M600 Scout Light	45	\$217.00	\$9765.00
Sure Fire dual switch tailcap assy	45	\$117.00	\$5265.00
Magpul M-Lok, Cantilever rail light MRA	45	\$ 26.20	\$1179.00
Magpul Ambidextrous sling attach point	45	\$ 21.24	\$ 955.80
Savvy sniper quad qd with hidden black Sling (ambidextrous)	45	\$ 55.50	\$2497.50
Ambidextrous Mag Release	45	\$38.00	\$1710.00
Ambidextrous Safety selector assembly included in rifle price	45	\$33.00	\$1485.00
Trijicon MRO 2.0 adjustable Red-Dot Sight with full co witness mount	45	\$373.50	\$16807.50
		Total Price	\$39664.80

Proposal C Trade in for Rifles - State TRADE-IN VALUE at current market value for current department M&P15 Weapons. Quantities are estimates and may vary.				
MODEL#	Qty.	Trade-In Unit Value	Total Trade-In Value	
Smith & Wesson M&P15 Rifle	56	\$485.00	\$27160.00	
Total for Proposals A & B			\$75439.80	
Estimated Grand Total with Trade in Value			\$48279.80	

• •	Our company is an authorized distributor of this equipment Our company is not an authorized distributor of this equipment.
STATE WARRANTY: Full Man	ufacturers Warranty

Bid Proposal Patrol Rifles Page 2 of 4

#### **ESTIMATED QUANTITIES:**

Quantities stated are estimated and not guaranteed, but will be used for award purposes. The City of Troy will not be penalized for ordering more or less than the stated quantities. It is the intent to purchase up to Forty Five (45) or more patrol rifles.

NOTE: Include all delivery costs, handling, packaging, and service charges; if any.

#### **UNIT PRICES:**

Unit prices prevail. The City of Troy Purchasing Department will correct all mathematical errors.

#### **DESCRIPTIVE LITERATURE:**

Please attach descriptive or pertinent literature relevant to your company's bid proposal at the time of bid submission. It is attached and marked \_\_\_\_\_\_ for your identification.

#### **ADDITIONAL INFORMATION:**

For questions about the specifications, please contact **Officer Joshua Muhlenbeck** at 248-561-2940 or at Joshua Muhlenbeck@troymi.gov between the hours of 8:00 AM and 4:30 PM, Monday through Friday.

#### **DELIVERY:**

Items are to be F.O.B. delivered, freight paid to: ATTN: Officer Joshua Muhlenbeck, Troy Police Training Center 4850 John R Road, Troy MI 48085 (Inside delivery required).

#### **DOWN-PAYMENTS OR PREPAYMENTS:**

Any bid proposal submitted which requires a down-payment or prepayment prior to delivery and full acceptance of the item(s) as being in conformance with specifications will not be considered for award.

#### AWARD:

The evaluation and award of this bid shall be a combination of factors, including but not limited to: cost, professional competence, equipment as specified, warranties, and the correlation of the proposal submitted to the needs of the City of Troy.

The City of Troy reserves the right to award this bid to the lowest responsible bidder(s) meeting specifications for the purchase of Patrol Rifles when combined with Trade-In Values or to combine the items in whatever manner is deemed to be in the City of Troy's best interest; to reject low bids which have major deviations from the specifications; to accept a higher bid which has only minor deviations; to accept or reject the trade-in offers.

#### **LOCAL PREFERENCE:**

The City of Troy reserves the right to award a contract to a local business, one which pays City of Troy taxes (real and/or personal), if the bid of a local vendor is within 5% of the lowest responsive and responsible non-local bidder, then the local vendor is given one chance to match the low bid.

#### **PURCHASE ORDER:**

After approval of the successful bidder(s) by the Troy City Council, the purchase order issued from the City of Troy will create a bilateral contract between the parties and commit the successful bidder(s) to perform the contract in accordance with specifications. The Purchase orders will be released upon the City's acceptance of the specified insurance. A contract document/ agreement will not be issued.

#### **CONTRACT FORMS:**

Bidders should complete and sign the Legal Status of Bidder, Non-Collusion Affidavit, Certification regarding Debarment, the Certification regarding "Iran Linked Business" and the Familial Disclosure Forms and return with your bid proposal. Due to COVID-19 restrictions the City is waiving Notary requirements; but note that all forms must be signed and dated.

COMPANY NAME: Michigan Police Equipment Co.

Bid Proposal Patrol Rifles Page 3 of 4

CONTACT	INFORMATION:
---------	--------------

Name(s): Sena Parks	24 Hr. Phone No. 517-322-0443	
	Cell 313-600-7484	
Hours of operation: 8:30 AM - 5 PM		

#### **REFERENCES**

Please list at least three (3) Police departments with at least 75 uniformed employees that have had similar work completed by your company.

COMPANY:			
ADDRESS:	525 W. Allegan St Lansing M	II 48933	
CONTACT:	Cpl Brad Dohm	PHONE:	231-342-4775
EMAIL:	DohmB@michigan.gov		
COMPANY:	Michigan Dept of Corrections	3	
ADDRESS:	3640 Cooper St Jackson MI 49201		
CONTACT:	Captain Paul Walker	PHONE:	517-780-6043
EMAIL:	walkerp2@michigan.gov		
COMPANY: ADDRESS:	Wixom Police Department 49045 Pontiac Trail Wixom	MI 48393	
CONTACT:	Lt. Mark Bradley		248-624-6114
EMAIL:	mbradley@wixomgov.org		

COMPANY NAME: Michigan Police Equipment Company

Bid Proposal Patrol Rifles Page 4 of 4

#### SIGNATURE PAGE

P	R	IC	E	S	

Prices shall remain firm for 60 days or bid award, whichever comes first, except the successful bidder(s) whose prices shall remain firm through delivery, trade-in pick-up, and final acceptance as operational in accordance with specifications.

SIGNATURE OF AUTHORIZED COM	PANY REPRESENT	TATIVE:	Thy
NOTE: The undersigned has checked carefully the any error or omission in this bid offer and is	e bid figures and under	rstands that he/she	/
TAX ID#: 38-2339476			and a state of the
COMPANY NAME: Michigan Police Equip	oment Co.		additional and the second seco
ADDRESS 6521 Lansing Road	CITY Charlotte	STATEMI	ZIP 48813
PHONE NUMBER 517-322-0443	FAX NU	MBER <u>517-322-04</u>	91
REPRESENTATIVE'S NAME Sena Parks			
	(Print)		
SIGNATURE OF AUTHORIZED COM	PANY REPRESENT	TATIVE /	J7-27
PAYMENT TERMS: Net 30 Days		V	<del></del>
E-MAIL: sena@mpec.biz	DELIVERY DAT	E:	donor.
EXCEPTIONS: Any exceptions, substitutions, deviations, ebelow. The reason(s) for the exceptions, sproposal offer: None	etc., from the City spec substitutions, and/or de	cifications and this eviations are an int	proposal <u>must be stated</u> egral part of this bid
Check this box if your bid is not to	be broken up by item	and based on an a	all or none award.
ACKNOWLEDGEMENT:  I, Sena Parks  bid proposal documents contained hereir  MITN website, <u>www.mitn.info</u> and is an off	y that I have read the n were obtained directical copy of the Author	Instructions to Bit tly from the City's rized Version.	<b>dders</b> ( Pages) and that the Purchasing Department or
SIGNATURE OF AUTHORIZED COMPAN	NY REPRESENTATIV	E:	Rely
IMPORTANT: All City of Troy purchases with the MIOSHA "Right to Know" Law. submission.	require a SAFETY D	ATA SHEET, wher	re applicable, in compliance

U.S. FUNDS: All prices quoted are to be in U.S. Currency.

G:\BidPatrolriflesITB-COT 21-21.doc



February 11, 2021 Addendum 1 ITB-COT 21-21 Patrol Rifle Page 1 of 2

#### To All Bidders:

Please be advised that the City of Troy Purchasing Department has authorized the following CHANGES to the <u>Bid Proposal Page</u> for Bid Proposal **ITB-COT 21-21**, **Patrol Rifle.** The CHANGES will be considered an integral part of the original proposal documents. This addendum also serves as a bid extension to the <u>new bid opening date of February 18, 2021 at 10:00 AM EDT.</u> Please be sure to use the revised bid proposal page with your bid submission.

I, the undersigned Bidder, have read this addendum and have integrated the changes into the Bid Proposal documents for ITB-COT 21-21, **Patrol Rifle**. All other items in the original proposal document remain the same. This addendum should be attached to the Electronic Bid Submission Response at the time of submission on or before <u>Thursday</u>, <u>February 18</u>, <u>2021 at 10:00 A.M.</u>, <u>EDT</u>.

COMPANY:	Michigan Police Equipment Company
NAME OF REPRESENTATIVE:	Sena Parks
SIGNATURE OF AUTHORIZED REPRESENTA	ATIVE: (Print)
DATE:	2-17-2021



## **Legal Status of Bidder:**

corporati lichigan resident ontracts.	on duly orgar _ for whom <u>_</u> _, whose sigr	nized and do Sena Parks nature is affi	ing busine	ess under the l , bearir proposal, is c	aws of the State og the office title luly authorized t	e of of o exec
partnersi	nip, all memb	ers of which,	, with addr	esses, is:		
		w	<del></del>			



# CITY OF TROY OAKLAND COUNTY, MICHIGAN NON-COLLUSION AFFIDAVIT

#### TO WHOM IT MAY CONCERN:

Sena Parks being duly sworn deposed	save that halaha
Sena Parks , being duly sworn deposed (Print Full Name)	, says that he/she
is <u>President</u> . The party making the foregoing p (State Official Capacity in Firm)	proposal or bid,
that such bid is genuine and not collusion or sham; that said bidde colluded, conspired, connived, or agree, directly or indirectly, with any person, to put in a sham bid or to refrain from bidding and has n manner directly or indirectly sought by agreement or collucommunication or conference, with any person to fix the bid price or any other bidder, or to fix any overhead, profit, or cost element or price, or that of any other bidder, or to secure the advantage against to Troy or any person interested in the proposed contract; and that all so contained in said proposal or bid are true.	bidder or ot in any usion, or affiant or f said bid he City of
SIGNATURE OF PERSON SUBMITTING BID	
Jennyer Wrubel	
NOTARY'S SIĞNATURE	
Subscribed and sworn to before me this 17th	day of
February , 20 21 in and for Eaton County.	
My commission expires:	
08-24-2023	



### CERTIFICATION REGARDING DEBARMENT, SUSPENSION, AND OTHER RESPONSIBILITY MATTERS

The prospective participant certifies, to the best of its knowledge and belief, that it and its principals:

- 1. Are not presently debarred, suspended, proposed for debarment, declared ineligible or voluntarily excluded from participation in transactions under any non-procurement programs by any federal, state or local agency.
- 2. Have not, within the three year period preceding, had one or more public transactions (federal, state, or local) terminated for cause or default; and
- 3. Are not presently indicted or otherwise criminally or civilly charged by a government entity (federal, state, or local) and have not, within the three year period preceding the proposal, been convicted of or had a civil judgment rendered against it:
  - a. For the commission of fraud or a criminal offense in connection with obtaining, attempting to obtain, or performing a public transaction (federal, state, or local), or a procurement contract under such a public transaction;
  - b. For the violation of federal, or state antitrust statutes, including those proscribing price fixing between competitors, the allocation of customers between competitors, or bid rigging; or
  - c. For the commission of embezzlement, theft, forgery, bribery, falsification or destruction of records, making false statements, or receiving stolen property.

I understand that a false statement on this certification may be grounds for the rejection of this proposal or the termination of the award. In addition, the general grant of this authority exists within the City's Charter, Chapter 12, Section 12.2- Contracts.

[X] I am able to certify to the above statements.

Michigan Police Equipment Co.	
Name of Agency/Company/Firm (Please Print)	
Sena Parks, President	
Name and title of authorized representative (Please Print)	
Signature of authorized representative	
Signature of authorized representative	
Date	

[ ] I am unable to certify to the above statements. Attached is my explanation.

G:\Purchasing Forms - Instructions\Certification regarding debarment (2).doc



#### VENDOR CERTIFICATION THAT IT IS NOT AN "IRAN LINKED BUSINESS"

Pursuant to Michigan law, (the Iran Economic Sanctions Act, 2012 PA 517, MCL 129.311 et seq.), before accepting any bid or proposal, or entering into any contract for goods or services with any prospective Vendor, the Vendor must first certify that it is not an "IRAN LINKED BUSINESS", as defined by law.

Vendor		
Legal Name	Michigan Police Equipment Co.	
Street Address	6521 Lansing Road	
City	Charlotte	
State, Zip	МІ 48813	
Corporate I.D. Number/State	38-2339476	
Taxpayer I.D. #	38-2339476	

The undersigned, with: 1.) full knowledge of all of Vendors business activities, 2.) full knowledge of the requirements and possible penalties under the law MCL 129.311 et seq. and 3.) the full and complete authority to make this certification on behalf of the Vendor, by his/her signature below, certifies that: the Vendor is NOT an "IRAN LINKED BUSINESS" as require by MCL 129.311 et seq., and as such that Vendor is legally eligible to submit a bid and be considered for a possible contract to supply goods and/or services to the City of Troy.

the City of Troy.	
Signature of Vendor's Authorized Agent	:
(1257-in)	
Printed Name of Vendor's Authorized A	gent:
Sena Parks	
Witness Signature:	
Janice Mehney	
J	
Printed Name of Witness:	
Janice Mehney	
G:\ Bidl anguage Iranl inkedBusiness	



## Proposer's Sworn and Notarized Familial Disclosure (to be provided by the Proposer)

The undersigned, the owner or authorize "Proposer"), pursuant to the familial distribution Proposal, hereby represent and warrant relationships exist between the owner (something and Police Equipment Co.  City Council or City of Troy management	closure require it, except as pr s) or any emple	rement provided in the Request for provided below, that no familial
<u>List any Familial Relationships:</u>		
		BIDDER: Michigan Police Equipment Co.
		By: Sena Parks
		Its: President
STATE OF MICHIGAN	)	
	)ss.	
COUNTY OF Eaton	)	
This instrument was acknowledged bet	fore me on the	<u>17th</u> day of <u>February</u> , 2021, by

66723 JPMorgan Chase

Michigan Police Equipment Company Distributor

6521 Lansing Road Charlotte, MI 48813

2/18/2021

PAY TO THE ORDER OF

**CITY OF TROY** 

\*\*4,000.00

CITY OF TROY 500 W BIG BEAVER ROAD **TROY MI 48084** 

MEMO

**BID DEPOSIT ITB-COT 21-21** 

"O66?23" 1:0?20003261: 245000018581"



#### CITY COUNCIL AGENDA ITEM

Date:

March 3, 2021

To:

Mark F. Miller, City Manager

From:

Robert J. Bruner, Assistant City Manager

Lisa Burnham, Controller Frank Nastasi, Chief of Police

Emily Frontera, Purchasing Manager

Subject:

Standard Purchasing Resolution 2 – Award to Low Bidder Meeting Specifications –

Patrol Rifle - Police Department

#### History

 Patrol rifles have become the standard in law enforcement for situations requiring a response to critical incidents such as active shooters.

- Properly equipped patrol rifles are tactically superior in regards to accuracy and ammunition capability.
- The rifles currently in service are equipped with the minimum basic accessories including factory installed iron sights and only a few have mounted light systems.
- Currently the Troy Police Department has equipped their officers since 2007.
- The rifles are pool weapons which are shared by all officers.
- Troy Police Department currently has (56) Smith & Wesson M&P15 rifles assigned to the Operations Division which are approximately 15 years old and have reached their end of life.
- Troy Police Department is looking to purchase (45) new rifles and trade-in the (56) 15-year-old rifles. Downsized due to the departments individual rifle purchase program.

#### **Purchasing**

On February 18, 2021 a bid opening was conducted as required by City Charter/Code and bid proposals were received at the City's request from firms interested in providing Patrol Rifles for the City of Troy Police Department. Companies were notified via the Michigan Intergovernmental Trade Network (MITN); <a href="www.mitn.info">www.mitn.info</a>. 66 vendors were notified via the MITN website. Three (3) bid responses were received. Below is a detailed summary of the vendor responses.

Companies notified via MITN		
Troy Companies notified via MITN	1	
Troy Companies notified Active email Notification	1	
Troy Companies - Active Free	0	
Companies that viewed the bid	15	
Troy Companies that viewed the bid	0	

MITN provides a resourceful online platform to streamline the procurement process, reduce costs, and make it easier and more transparent for vendors to do business with the City of Troy.

Active MITN members with a current membership and paying annual dues receive automatic electronic notification which allows instant access to Bids, RFPS and Quote opportunities with the City.

Active MITN non-paying members are responsible to monitor and check the MITN website for opportunities to do business with the City.

Inactive MITN member status can occur when a company does not renew their account upon expiration. Inactive members cannot be notified of solicitations or access any bid information.



#### CITY COUNCIL AGENDA ITEM

#### **Purchasing (continued)**

- Michigan Police Equipment Company of Charlotte, MI is the low bidder meeting specifications for the FN 15 SRP G2 Tactical Rifle and attachments in the amount of \$75,439.80.
- Michigan Police Equipment Company also offered the most advantageous trade in value for the Department's current Smith & Wesson M&P15 Rifles for an estimated total of \$27,160.00, contingent on the condition of the rifles traded in.
- The difference between the estimated bid prices and the estimated trade-in value is \$48,279.80.
- A detailed description of value, weapons specifications, and quantities are detailed in the attached bid tab summary.

#### Financial

Funds are budgeted and available in the Police Department Forfeiture Account for the 2021 fiscal year.

#### Recommendation

City Management recommends awarding a contract to the low bidder meeting specifications *Michigan Police Equipment Company of Charlotte, MI* to supply the Police Department with the Patrol Rifles and Attachments for an estimated total amount of \$75,439.80, less estimated trade-in value of \$27,160.00 for an estimated total final cost of \$48,279.80.

Opening Date: 02/18/2021 Date Reviewed: 02/18/2021

CITY OF TROY **BID TABULATION** PATROL RIFLES

VENDOR NAME: CITY:		ı ~	ce Equipment pany	Kiesler Police Supply		CMP Distributors, Inc.	
		Charlotte, MI		Jefferso	nville, IN	Lansii	ng, MI
CHEC	K NUMBER:	66723		34290536		1539568	
CHEC	K AMOUNT:	\$4,000.00		\$4,000.00		\$4,000.00	
PROPOSAL: To furnish NEW PATROL RIFLE	S FOR THE T	ROY POLICE D	EPARTMENT		*		
PROPOSAL A: RIFLES							
DESCRIPTION	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
FN 15 SRP G2 Tactical Rifle	45	\$795.00	\$35,775.00	\$795.27	\$35,787.15	\$911.68	\$41,025.60
TOTAL COST:		\$35,7	75.00	\$35,7	87.15	\$41,0	25.60
PROPOSAL B: ATTACHMENTS							
DESCRIPTION	QUANTITY	UNIT PRICE	EXTESION	UNIT PRICE	EXTESION	UNIT PRICE	EXTESION
Sure Fire M600 Scout Light	45	\$217.00	\$9,765.00	\$219.63	\$9,883.35	\$217.75	\$9,798.75
Sure Fire dual switch tailcap assy	45	\$117.00	\$5,265.00	\$131.82	\$5,931.90	\$145.38	\$6,542.10
Magpul M-Lok, Cantilever rail light MRA	45	\$26.20	\$1,179.00	\$10.09	\$454.05	\$27.95	\$1,257.75
Magpul Ambidextrous sling attach point	45	\$21.24	\$955.80	\$18.50	\$832.50	\$21.95	\$987.75
Savvy sniper quad qd with hidden black Sling (ambidextrous)	45	\$55.50	\$2,497.50	\$66.13	\$2,975.85	\$74.50	\$3,352.50
Ambidextrous Mag Release	45	\$38.00	\$1,710.00	\$39.96	\$1,798.20	\$49.68	\$2,235.60
Ambidextrous Safety selector assembly	45	\$33.00	\$1,485.00	\$63.00	\$2,835.00	\$37.53	\$1,688.85
Trijicon MRO 2.0 adjustable Red-Dot Sight with full co witness mount	45	\$373.50	\$16,807.50	\$400.68	\$18,030.60	\$414.49	\$18,652.05
	TAL COST:	\$39,6	64.80	\$42,7	41.45	\$44,5	15.35
PROPOSAL C: TRADE IN FOR RIFLES - State estimates and may vary.	e TRADE-IN \	/ALUE at curre	nt market value	e for current de	partment M&P	15 Weapons. Q	uantities are
MODEL#	QUANTITY	Trade-In Unit Value	Total Trade- In Value	Trade-In Unit Value	Total Trade- In Value	Trade-In Unit Value	Total Trade- In Value
Smith & Wesson M&P15 Rifle	56	\$485.00	\$27,160.00	6200.00	\$16,800.00		
TOTALS FOR PROPOS	TOTALS FOR PROPOSALS A & B:		φ21,100.00	\$300.00	\$10,000.00	\$375.00	\$21,000.00
ESTIMATED GRAND TOTAL WITH TRADE IN VALUE:		\$75,4		\$300.00 \$78,5		\$375.00 \$85,5	
ESTIMATED GRAND TOTAL WITH TRADE	IN VALUE:	\$75,4 \$48,2	39.80		28.60		40.95
Authorized Dealer:	IN VALUE: Y or N		39.80 79.80	\$78,5	28.60 28.60	\$85,5	40.95 40.95
		\$48,2	39.80 79.80	\$78,5 \$61,7 Manufacture	28.60 28.60 / er Warranty	\$85,5 \$64,5	40.95 40.95
Authorized Dealer: Warranty: Descriptive Literature Provided:		\$48,2	39.80 79.80 / erers Warranty	\$78,5 \$61,7	28.60 28.60 / er Warranty	\$85,5 \$64,5	40.95 40.95 I er Warranty
Authorized Dealer: Warranty: Descriptive Literature Provided: Contract Information:	Y or N	\$48,2 Yell Manufacte	39.80 79.80 / erers Warranty	\$78,5 \$61,7 Manufacture	28.60 28.60 / er Warranty	\$85,5 \$64,5 Manufacture	40.95 40.95 I er Warranty
Authorized Dealer: Warranty: Descriptive Literature Provided: Contract Information: Name(s):	Y or N	\$48,2 Y	39.80 79.80 7 erers Warranty N	\$78,5 \$61,7 Manufacture	28.60  28.60  / er Warranty / en; Brian Califf	\$85,5 \$64,5 N Manufacture	40.95 40.95 I er Warranty I
Authorized Dealer: Warranty: Descriptive Literature Provided: Contract Information: Name(s): Hours of Operation:	Y or N	\$48,2 Full Manufacte N Sena 8:30AW 517-322-0443	39.80 79.80 rerers Warranty N Parks I - 5PM S; cell	\$78,5 \$61,7 Manufacture	28.60 28.60 / er Warranty / en; Brian Califf	\$85,5. \$64,5.  Manufacture N  Catherin	40.95 40.95 User Warranty Use Parks AM - 5PM
Authorized Dealer: Warranty: Descriptive Literature Provided: Contract Information: Name(s): Hours of Operation: 24 Hr. Phone Number:	Y or N	\$48,2 Full Manufacte  Sena 8:30AM	39.80 79.80 6 erers Warranty N Parks I - 5PM 6; cell 0-7484	\$78,5 \$61,7 Manufacture Crystal Laasan 8AM -	28.60  28.60  / er Warranty / en; Brian Califf 5PM	\$85,5 \$64,5 Manufacture N Catherin M-F 8:30/	40.95 40.95 I er Warranty I e Parks AM - 5PM
Authorized Dealer: Warranty: Descriptive Literature Provided: Contract Information: Name(s): Hours of Operation:	Y or N	\$48,2 Full Manufacte N Sena 8:30AW 517-322-0443 313-60	39.80 79.80 7erers Warranty N Parks I - 5PM S; Cell 0-7484	\$78,5 \$61,7 Manufacture Crystal Laasan 8AM -	28.60  28.60  / er Warranty / en; Brian Califf 5PM //A	\$85,5 \$64,5 Manufacture N Catherin M-F 8:30/ 517-97/	40.95 40.95 I er Warranty I e Parks AM - 5PM 4-4276
Authorized Dealer: Warranty: Descriptive Literature Provided: Contract Information: Name(s): Hours of Operation: 24 Hr. Phone Number: Provided References: Payment Terms:	Y or N	\$48,2 Full Manufacte N Sena 8:30AM 517-322-0443 313-60	39.80 79.80  Parks I - 5PM C	\$78,5 \$61,7 Manufacture Crystal Laasan 8AM -	28.60  28.60  / er Warranty / en; Brian Califf 5PM /A / 30	\$85,5 \$64,5 Manufacture N Catherin M-F 8:30/ 517-97-	40.95 40.95 Jer Warranty Jee Parks AM - 5PM 4-4276
Authorized Dealer: Warranty: Descriptive Literature Provided: Contract Information: Name(s): Hours of Operation: 24 Hr. Phone Number: Provided References: Payment Terms:  Delivery Date:	Y or N	\$48,2  Full Manufacte  Sena 8:30AM 517-322-0443 313-60  Net 30 FN 90 Trijicon 90 Surefire, Magj	39.80 79.80  Areres Warranty  Parks 1 - 5PM 5; cell 0-7484  Days 0 days -120 days oul, Savvy, 30- ays.	\$78,5 \$61,7 Manufacture Crystal Laasan 8AM -	28.60  28.60  / er Warranty / en; Brian Califf 5PM // // // 30  ) days	\$85,5 \$64,5 Manufacture N Catherin M-F 8:30/ 517-97/ Y	40.95 40.95 1 er Warranty 1 e Parks AM - 5PM 4-4276 7 Days
Authorized Dealer: Warranty: Descriptive Literature Provided: Contract Information: Name(s): Hours of Operation: 24 Hr. Phone Number: Provided References: Payment Terms:  Delivery Date: Exceptions:	Y or N	\$48,2  Full Manufacte  Sena  8:30AN 517-322-0443 313-60  Net 30  FN 90 Trijicon 90 Surefire, Magj 45 d	39.80 79.80  Areres Warranty  Parks 1 - 5PM 3; cell 0-7484  Days 0 days -120 days oul, Savvy, 30 ays. ne	\$78,5 \$61,7 Manufacture Y Crystal Laasan 8AM - N/	28.60  28.60  / er Warranty / en; Brian Califf 5PM //A / 30  0 days	\$85,5 \$64,5 Manufacture N Catherin M-F 8:30, 517-97- Y Net 30	40.95  40.95  I er Warranty  I ee Parks  AM - 5PM  4-4276  Days  ARO
Authorized Dealer: Warranty: Descriptive Literature Provided: Contract Information: Name(s): Hours of Operation: 24 Hr. Phone Number: Provided References: Payment Terms: Delivery Date:	Y or N Y or N	\$48,2  Full Manufacte  Sena  8:30AM  517-322-0443  313-60  Net 30  FN 90  Trijicon 90  Surefire, Magy  45 d  No	39.80 79.80	\$78,5 \$61,7 Manufacture Crystal Laasan 8AM - N/ Net	28.60  28.60  / er Warranty / en; Brian Califf 5PM /A / 30 O days	\$85,5 \$64,5 N Manufacture N Catherin M-F 8:30, 517-97- Y Net 30	40.95  40.95  I er Warranty I ee Parks AM - 5PM 4-4276 I Days Vs ARO

Attest:

(\*Bid Opening conducted via a Go-To Meeting)

Sergeant Dan Galich Kristine Kallek Beth Zaccardelli Jackie Ahlstrom

Emily Frontera Purchasing Manager